AP Exam Review MC #1 #2-5,7-12, 14-16 NON-CALCULATOR
Google Form MC Entry (13 questions)

2. What is the x-coordinate of the point of inflection on the graph of y = 13:’ +5x 4247

(A)5 ®)0 © ‘?° M) -5 (E) - 10

3, I x* +xy =10, then when x-Z.%-

7 2 3
A) =3 ®) -2 (©) 7 (D) 3 ()

(SRR

4. A particle moves along the x-axis so that its position at time ¢ is given by x(t)=1* ~6r45. For

what value of 7 is the velocity of the particle zero?
(A)1 (B)2 ©)3 (D)4 (E)5

5. The graph of a twice-differentiable function / is shown in the figure below. Which of

the following is true? 1v
(A) f(l)<f'(l)<f"(l) F
®B) f(1)</"(1)<s(1) / -
(© S (1)<s()<s"(1) 4 Vg
®) 1"(1) </ (1)< /() /

®B) /()< (1)<s0)

7. An equation of the linc tangent to the graph of y = x+cosx at the point (0, 1)is

(A) y=2x+1 (B) y=x+1 ©€) y=x (D) y=x-1 (E)y=0
8. What s the instantaneous rate of change at x = 2 of the function f given by f (x) = *-—27
x~1

i 1 1
W) =2 ®) < ©3 (D)2 (E)6




9.1f f(x)=tan(2x), then f‘(%)-
(A) V3 (B) 243 (C)4 (D) 443 (E)8
10,

x 2 [ ST 7 8 ]
f(x)| 10 | 30 ] 40 | 20

The function J is continuous on the closed interval |2, 8] and has values that are given in the
table above. Using the subintervals |2, 5), [5, 7], and [7, 8], what is the trapezoidal approximation

of L f(x)dx?

(A) 110 (B) 130 (C) 160 (D) 190 (E)210

11. Let / be the function given by f(x)=|x]. Which of the following statements about f are true?
I. / is continuous at x = 0.

Il. f is differentiable at x = 0,
I1L. f has an absolute minimum at x = 0,

(A) 1 only (B) 1l only (C) IlI only (D) I and I1I only (E) II and III only

12. If g is a differentiable function such that for all real numbers x,
g(x)<0 and f'(x)=(x" - 4)g(x), which of the following is true?

(A)f has a relative maximum at x =—2 and a relative minimum at x=2.

(B) f has a relative minimum at x =-2 and a relative maximum at x=2.

(C)f has a relative minimum at x=-2 and at x = 2.

(D) f has a relative maximum at x=-2 andat x=2.

(E) It cannot be determined if f has any relative extrema.

14.1F f(x)=xJ2x-3, then f'(x) =

3x-3 m_s S

x 1 (E)
[ﬁ.}?— {E'.’ er—_j [f'} r_.lt-j m} Fli—3 2J2x-3

15.1f [* £ (x)dv=a+2b, then [*(f(x)+5)dx=

(A) a+2b+5 (B) 5b-5a (C) 7b-4a (D) Tb-5a (E) Tb—6a
di_a(a

6 —[coo (x )]-
& .

(A) 65 -in(;’)ca(x’) (B) 6x‘ea(x’) (©) m’(x’)

(D) -6x* sin(x’)cos(x’) (E) -Zsin(x’ )eos(a’)




